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import math

t1 = [int(i) for i in filter(None, input().split(" "))]
t2= [int(i) for i in filter(None, input().split(" "))]
t3= [int(i) foriin filter(None, input()_sp"t(n n))]

p = [int(i) for i in filter(None, input().split(" "))]

g1 = math.sqrt((t1[0] - t2[0])**2 + (t1[1] - t2[1])**2)
g2 = math.sqrt((t1[0] - t3[0])**2 + (t1[1] - t3[1])**2)

g3 = math.sqrt((t3[0] - t2[0])**2 + (t3[1] - t2[1])**2)

gp1 = math.sqrt((t1[0] - p[0])**2 + (t1[1] - p[1])**2)
8p2 = math.sqrt((t1[0] - p[0])**2 + (t1[1] - p[1])**2)

gp3 = math.sqrt((t3[0] - p[0])**2 + (t3[1] - p[1])**2)

cla = (t1[0] - t2[0])/g1
c1b = (t1[0] - t3[0])/g2
c2a = (2[0] - t1[0])/g1
c2b = (t2[0] - t3[0])/g3
c3a = (t3[0] - t1[0])/g2

c3b = (t3[0] - t2[0])/g3

sla = (t1[1] - t2[1])/g1
s1b = (t1[1] - t3[1])/g2
s2a = (t2[1] - t1[1])/g1

s2b = (t2[1] - t3[1])/g3



s3a = (t3[1] - t1[1])/g2

s3b = (t3[1] - t2[1])/g3

clp = (t1[0] - p[0])/gp1
€2p = (t2[0] - p[0])/gp2

¢3p = (t3[0] - p[0])/gp3

slp = (t1[1] - p[1])/gp1
s2p = (t2[1] - p[1])/gp2

s3p = (t3[1] - p[1])/gp3

// 7o

if (((cla <= c1p <= c1b)or(cla >= c1p >= clb)) or ((sla <= s1p <= s1b)or(sla >= slp >=s1b))) and (((c2a
<= c2p <= c2b)or(c2a >= c2p >= c2b)) or ((s2a <= s2p <= s2b)or(s2a >= s2p >=s2b))) and (((c3a <= c3p

<= c3b)or(c3a >= c3p >= c3b)) or ((s3a <= s3p <= s3b)or(s3a >= s3p >= s3b))):

print("In")
else:

print("Out")

[
n = int(input())
count=0
defiind_summ(a):
s=0
fori in range(len(str(a))):
s += int(str(a)[i])
#print(s)
return s

arr=1]

foriin range(9 *n//2 + 1):
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arr.append(0)

fori in range(int("1"+"0"*(n//2))):
arr[find_summ(i)] += 1

fori in range(len(arr)):
count+=arr[i]**2

print(count)

n = str(input())
maxS=0
maxi=0

sh={"aa":2, "aba":2, "aab":2, "abb":2, "aaa":3,"abac" '2,"abcb™:2,"abab":3,"aabb":3,"abba":4, "abbb":3,
"abaa":3, "aaba":3, "aaab":3,"aaaa":5)

comb = [[n[0] + n[1], n[2] + n[3], n[4] + n[S] + n[6]],
[n[0] + n[1], n[2] + n[3] + n[4], n[5]+ n[6]],
[n[0] + n[1] + n[2], n[3] + n[4], n[5]+ n[6]],
[n[0] + n[1] + n[2], n[3]+ n[4] + n[5]+ n[6]),
[n[0] + n[1] + n[2]+ n[3], n[4] + n[5]+ n[6]]]

foriin range(5):

s=0
for j in range(len(combli])):
a = combl[i][j][0]
b = None
c = None
thisSh = "
for w in range(len(combli][j])):

if combli][j][w] == a:
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thisSh += "g"

elif combl[i][j][w] == b:
thisSh += "p"
elif b == None:

b = combli][j][w]
thisSh += "p"
elif combl[i][j][w] == c:
thisSh += "¢"
elif ¢ == None:

¢ = combl[i][jl[w]
thisSh += "¢"
ifsh.get(thisSh)!= None:
s+= sh[thisSh]
if s >maxs:
maxS=s
maxi=i
forjin range(len(comb[maxi]) - 1):
print(comb[maxi][j], end="-")
priut(comb[maxi][-1])

print(maxs)

maxS=0
def find(y, x, size: int):
endProcess = False
while endProcess == False:
if X + size > nory + size > n:

endProcess = True



else:
count=0
for i in range(size):
for j in range(size):

#print(aly + i][x + j])

ifaly +i)[x + ] == "1":

count+=1
else:
endProcess = True
if count == size * size:

size+=1

return(size - 1)

a=|]

n = int(input())

for k in range(n):

b = str(input())
a.append(b)
for l'in range(n):
for w in range(n):

s = find(l, w, 1)

if s I= None:
if s > maxs:
maxS = s
#print(s)

print (maxS**2)
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